| 5 | A 3 | 2 | 1
132 / 5.2"
121/ 4.7 L2 / 1.65"

100 / 3.9" '
|  \, o) l dh .
=08 i | ©
— ) f -
3

N,

2 ]
__ltTﬁTb__

Teil 1/ Part 1

DIN 7984 M4 x 10
DIN 127 Form A Spring lock washer M4

Teil 2 / Part 2

DIN 7984 M5 x 10

DIN 127 Form A Spring lock washer M5

Teil 3 / Part 3

Allg. Tol.:ISO 2768-m [MalB3stab: 1:1
lighting solutions Material:1.4031
Dafun Name 1 Artikel: 13000165 Version:

22.08.2016

hungl

Contour 010 Adjustable Wall

Mount Set

'Schutzvermerk ISO 16016

beachten. Refer to protection

notice ISO 16016."

Zeichnungsnummer: 1

000.007#7

Status

2




